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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THET(KF)2—F {THET(KF)E 40 418 42 43 44m% 45  46i% 47mk 48 49

AP WONOOOCOO -~ 00O PO WNNNYNWOLNINN

9210 SFET=EH 4 3 1 3 3 5 7 5 5
9220 SxETHH 7 5 3 12 11 5 5 7 7
9230 $EHTE M 4 10 8 11 12 11 2 5 8
9240 $EHETIEE 2 3 0 3 1 6 1 3 0
9250 % HT At #r b 10 12 5 7 7 10 5 3 7
9999 S XET 73 99 76 94 78 87 79 74 86 8
9310 E[FHET:AR 1 1 0 5 1 2 1 1 2
9320 H[SHETIL 1 3 1 1 1 1 2 3 3
9330 FH[SAT/INE 1 1 2 0 0 3 1 2 4
9340 R [ZHTR 3 2 3 1 3 4 2 5 2
9999 G XET 6 7 6 7 5 10 6 11 11
9410 RETT & 2 1 4 5 1 6 2 4 3
9420 RHETHHE 0 3 0 0 0 1 0 0 1
9430 RETFER 0 0 0 0 0 2 0 0 1
9440 RETAEF 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 1 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 0 0 1 0
9470 RETEXR 0 0 1 0 0 0 0 0 0
9480 RHETHER 0 0 0 1 1 0 0 0 0
9999 RIXXEt 2 4 5 7 2 9 2 5 5
99999 &Rt 692 687 682 721 701 768 764 796 772 80



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

TRET (K a—FK THRET(KF)& 50 51 52 53mk 54k 55 56 57 58 59
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #A;THT 1
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KB XEt 5
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ KXt 3
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 = HHET
1060 FH _EHT
1070 F7[RHET 1
1080 & HHET
1090 Hi&Hr
1100 L BEHT
1110 $Z1EHT
1120 {E1E JTHT
1130 +4<HT
1140 Fi R ET
1150 #/RET—T B
1160 ¥ RET=TH
1170 ;B/KHET
1180 E&AL.HT
1190 #&FARHT
1200 XFHET—TH
1210 XFHEIZTH
1220 $HET
1230 %KHET
1240 ZEET
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEIRT 3 0 2 2 1 4 1 0 3 4
1260 B & 0 0 0 0 0 0 1 0 1 2
1270 EEHT 4 0 1 0 0 0 1 1 1 2
1280 FRAHET 3 3 3 0 4 1 1 3 4 2
1290 $RHET 1 2 2 3 4 2 0 4 3 1
1300 & EEHT 1 2 1 2 1 1 4 3 1 0
1310 RJLHET 2 1 0 3 1 5 0 1 1 1
9999 KM XET 93 97 98 124 107 103 89 106 97 96
1510 }E#D_E BT 11 8 10 5 11 7 8 13 13 8
1520 HEHTHET 9 13 11 7 12 7 12 12 7 6
1530 }EHTHT 5 1 1 4 5 8 2 2 6 0
1540 K{Z3FHT 6 7 10 6 11 7 8 3 14 8
9999 FEMNA: X 5 31 29 32 22 39 29 30 30 40 22
2010 EE AT 1 3 3 3 4 5 3 3 1 1
2020 % E gl 5 3 5 4 4 6 2 5 1 0
2030 E0HT 0 0 0 1 0 0 0 0 0 0
2040 ;ET—T H 5 6 5 3 3 0 2 3 3 3
2050 BT =T B 3 0 2 3 3 4 2 4 1 0
2060 ¥g AT 0 0 1 1 0 0 0 1 0 1
2070 FxEBT—TH 4 4 3 4 6 1 2 3 4 1
2080 FRET—TH 1 2 1 3 4 4 1 1 2 1
2090 THiRAT 25 29 16 18 22 14 19 20 20 18
2100 fhdLHT 4 2 6 3 2 2 1 1 4 4
2110 }EWIETET—T B 4 3 2 2 4 4 4 5 6 4
2120 HEMIFTETZT B 4 9 5 4 1 2 6 3 5 5
9999 £ ERXET 56 61 49 49 53 42 42 49 47 38
2510 FAMEET 34 35 25 22 20 39 15 34 22 30
2520 sk EeHT 20 17 17 25 24 19 22 19 18 16
2530 = /INRHET 4 2 10 6 4 4 3 2 7 5
2540 FHi5HT 1 6 5 7 3 6 7 12 2 7
2550 ;HHET 0 4 0 2 4 8 3 2 2 5
2560 = SHT 10 16 8 11 11 14 14 16 11 6
2570 K EH/T 1 0 1 1 1 0 0 0 0 0
9999 ME R X ET 70 80 66 74 67 90 64 85 62 69
3010 KATHT 12 8 14 11 7 16 10 11 1 16
3020 gt ;IHT 14 15 16 15 19 15 11 15 9 11
3030 L EFHT 20 17 9 7 10 19 10 12 16 9
3040 &S _LHET 1 4 2 2 2 4 0 0 3 0
3050 B AT 33 29 19 30 33 27 33 49 29 31
3060 B THT 5 9 8 5 9 3 9 4 5 8
3070 wyESEAT 5 3 7 8 7 7 6 9 6 4
3080 HHHHT 8 8 2 8 4 4 2 6 9 4
3090 H A E AT 6 8 8 4 2 6 1 4 5 3
3100 EH R FEHET 8 6 6 6 6 10 10 5 9 8
3110 EHAILHET 5 4 6 4 8 3 5 9 8 7
9999 /\FHERXET 117 111 97 100 107 114 97 124 110 101
3510 £ R _LHT 0 1 1 0 4 4 1 4 8 4
3520 £ R chfT 2 6 6 2 9 3 7 7 3 3
3530 &R THT 17 19 13 13 10 15 8 16 19 18
3540 =B KHT 4 5 8 7 5 6 3 12 2 5
3550 AEFHT 6 7 6 8 6 10 14 9 7 8
3560 = T B HET 1 2 4 4 4 5 4 2 0 4
3570 = T AT 19 6 17 8 15 14 12 10 11 5
3580 FLIFTHT 11 8 5 7 5 8 4 4 9 1



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

3590 JEMT 0 0 0 0 0 0 0 0 0 0
9999 S HKXE 60 54 60 49 58 65 53 64 59 48
4010 41| RET 8 3 4 3 6 1 1 4 2 8
4020 {E&HT 0 4 2 1 0 1 1 1 1 0
4030 5HT 5 2 3 3 2 5 3 1 3 4
4040 = HEAHT 1 4 3 6 4 1 3 4 2 4
4050 7K EHT 4 6 5 6 7 7 4 3 7 8
4060 E5Z HAT 3 6 7 5 5 5 7 2 3 2
4070 JtJRHET 4 2 1 2 2 6 1 2 2 4
4080 =;T;HAMT 2 3 2 3 3 1 3 1 2 4
4090 S5 ERHT 3 3 3 3 4 3 2 6 3 4
4100 g FEFOET 1 0 0 1 3 2 3 0 2 1
4110 JEFF0ET 0 5 3 1 1 4 1 0 0 1
9999 2RI X st 31 38 33 34 37 36 29 24 27 40
4510 EREE—FHET 4 7 5 3 9 10 8 10 12 8
4520 EREE — AT 3 2 0 3 2 3 1 3 0 4
4530 EREE=ZEHT 2 1 0 4 1 2 1 1 1 1
4540 B} EErUZEET 1 1 1 1 3 2 2 1 3 1
4550 EREE FFHT 1 3 4 1 1 2 2 1 1 2
4560 AREE/EHET 0 2 0 2 1 0 1 1 2 0
4570 EREE-HZFHET 0 1 3 2 3 0 2 0 3 2
4580 ERZE/)\ZHEHT 0 0 2 0 0 0 0 0 1 0
4590 EREE N FEHT 0 1 1 1 1 0 1 1 0 0
4600 EREE-+ZEHET 0 0 3 2 1 1 1 1 2 2
4610 EREE+—ZHT 3 1 1 0 1 1 0 4 3 0
4620 B+ —FET 2 3 2 1 1 1 4 3 3 6
9999 ERERXET 16 22 22 20 24 22 23 26 31 26
5010 BRF0H £ HT 1 3 1 3 5 3 1 2 5 3
5020 FAF0BAEET 4 3 1 2 1 2 3 2 4 0
5030 FRFNREI{—HT 3 1 0 1 2 2 4 4 2 4
9999 AFIAXET 8 7 2 6 8 7 8 8 11 7
5510 b RHET 4 4 3 2 3 3 3 3 2 5
5520 = AT 8 4 7 2 8 11 3 6 12 9
5530 75 = /T 6 10 3 3 8 11 4 8 5 3
5540 wy ZEmT 1 1 5 5 4 3 2 2 2 5
5550 EEHET 0 1 0 1 0 0 0 2 2 0
9999 =R X 5t 19 20 18 13 23 28 12 21 23 22
6010 [EIHAT/MER 1 0 0 0 1 2 1 0 0 3
6020 [EHT 4 0 2 1 0 1 0 3 2 4 0
6030 [EET &I 0 1 0 2 1 3 1 2 2 0
6040 EiEIFHET 2 1 3 3 1 1 1 2 7 1
6050 JI|ABTE 2 1 3 1 1 3 2 1 1 4
6060 JI|EHETF 1 4 2 2 0 0 0 3 0 0
9999 FEEMRXET 6 9 9 8 5 9 8 10 14 8
6510 H X A#EAHT 1 0 0 1 0 0 0 0 0 1
6520 H & A KIEHET 3 1 1 3 1 1 2 0 4 2
6530 B E AFTHHET 0 2 0 2 2 0 1 2 0 2
6540 HZEALLTHET 1 2 2 1 4 0 0 2 1 4
6550 B E A Z NET 1 1 1 0 1 2 0 0 0 1
6560 HRAIEILHET 0 0 2 2 3 0 3 0 2 1
6570 HZ=AIEEgHT 0 1 5 1 1 1 3 1 0 1
6580 H&EAEHT 0 0 0 1 0 1 2 0 1 2
6590 HZ= ATHET 2 0 1 0 1 1 0 0 1 3
6600 B &= AT 1 0 0 0 2 0 1 3 0 0
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517 52i%

THRET (KF)3—F {THRET(KF)%& 50
6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET
6660 HZ A RLHET
9999 HEARKKXET
7010 Z R MO ET
7020 — R AHT
7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I HET
9999 — R&XEt
8011 IRAETFEHERLY
8012 IR AHTFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 YR AHETIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIR L
8044 IR AHTELIRIC
8045 IR AHTELIR (X
8050 YR AHETIRA
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
8150 IR AHBTEFRK L
9999 AKX 5T
9010 +THTAKEH
9020 FTHTHEA
9030 FTHT#FHAEH
9040 FTHIHEHE
9999 FTHXET
9110 SEET AL
9120 $ERTH L
9130 FRETH B
9140 $RET T+t
9150 $RHT L§%
9160 $RATEEHT 1
9170 $ERTNH
9180 $xHTEE
9190 $FETZ O
9200 $EHTEFIF
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

AT (KF)a—F {TIRET (K=E)4& 508 51/ 52 53#k O4i% 55k% 56k 57F 58 59
9210 SFET=EH 12
9220 SxETHH 10
9230 $EHTE M 5
9240 $RHETIEE
9250 % HT At #r b
9999 R &t
9310 E[FHET:AR
9320 H[SHETIL
9330 E[FZHET/INE
9340 R [ZHTR
9999 R[GHXET
9410 RET T &
9420 RHETHHE
9430 RETFER
9440 RETAEF
9450 RHETHER
9460 RET{—_HE
9470 RETEXR
9480 RHETHEAR
9999 REXEt
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XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

10 HAT 2 3 1 3 1 2 1 1 2 2
20 fE&LET 1 1 2 2 4 1 4 3 3 3
30 @M 4 2 3 5 5 2 2 1 4 3
40 SRET 3 1 1 1 2 1 3 3 4 3
50 KET—T B 2 4 3 1 4 3 3 1 3 8
60 KET=TH 2 3 2 0 0 4 6 2 2 2
70 RET=TH 3 4 5 7 4 3 2 3 3 5
80 AT IEHET 3 0 1 0 1 1 2 1 4 0
90 FEHATIRAT 4 2 4 0 2 4 2 1 5 2
100 b ALET 1 2 4 3 0 2 1 2 5 1
110 T HT 17 13 9 20 13 23 17 18 14 29
120 ;T AHT 2 4 1 5 5 3 2 2 1 5
130 t&FHT 3 4 6 1 4 5 7 3 1 9
140 EAEET 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 3 2 2 5 0 1 3 5 3 4
9999 KB XEt 50 45 44 53 45 55 55 46 54 76
510 AETHT B 4 4 10 5 3 3 12 8 10 7
520 HpEEMT 0 3 1 1 2 3 2 0 3 1
530 J\It&HET 4 2 1 6 4 0 5 2 5 3
540 15 HT 4 5 1 6 5 5 1 7 5 11
550 FithET 2 6 2 5 8 4 8 5 5 3
560 = ZLHT 0 0 0 0 0 2 2 1 3 1
570 & EHT 0 0 0 1 0 1 4 0 2 0
580 #rBHET 2 0 0 3 0 2 2 2 1 2
590 #7;EHT 1 1 0 1 1 1 0 0 1 0
600 ZEARET 16 5 13 9 11 16 16 9 15 16
610 JEHT 1 2 1 7 1 3 2 2 2 2
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 34 28 29 44 35 40 54 36 52 46
1010 R HT 6 3 3 1 5 2 5 5 4 0
1020 Lt FHT 4 4 7 4 5 1 6 3 7 7
1030 5 FHT 8 0 7 1 6 6 2 7 3 5
1040 75 K HT 10 11 2 10 11 5 9 7 8 4
1050 = HHET 11 3 12 8 5 7 8 13 3 11
1060 FH _EHT 6 7 8 12 7 11 7 9 5 5
1070 A7 R HET 12 7 8 10 9 6 4 10 6 9
1080 & HHET 6 6 6 3 9 5 6 4 10 4
1090 BHiEHT 9 8 11 10 8 3 9 11 10 14
1100 £ BEHT 10 4 6 12 5 8 7 8 7 16
1110 f21EHT 2 3 0 2 2 0 5 4 3 1
1120 #Z1E JCHT 0 2 2 1 1 1 1 1 2 3
1130 +5&HT 0 0 1 0 1 1 0 1 0 0
1140 Fk[RHET 0 0 1 0 1 0 0 0 0 0
1150 #/RET—T B 2 3 3 1 2 2 2 5 2 2
1160 #EET=TH 5 4 5 5 2 6 3 3 5 5
1170 ;& /KHET 0 1 2 1 0 3 1 2 2 3
1180 EE&FLHET 4 5 2 4 5 0 2 3 1 2
1190 ##F AHT 2 3 2 2 1 4 5 1 3 4
1200 XFHET—TH 2 2 2 1 1 2 3 1 3 6
1210 XFHEIZTH 2 1 1 3 3 3 0 4 1 2
1220 FrHT 4 3 0 0 2 0 2 2 1 3
1230 #XHET 1 3 3 4 3 4 3 1 2 2
1240 B EHT 4 2 0 3 1 0 2 4 0 0



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1250 fEEHET 2 2 0 1 1 1 2 3 1 0
1260 B & 0 0 1 2 0 2 0 1 1 0
1270 EEHT 5 2 1 0 1 2 2 0 3 2
1280 FRAHET 4 0 1 1 1 1 2 2 3 5
1290 $RHET 2 0 3 3 4 3 3 4 2 5
1300 & EEHT 2 2 1 4 1 0 1 3 0 0
1310 RJLHET 2 3 4 2 3 0 4 0 1 0
9999 K HEMRXET 127 94 105 111 106 89 106 122 99 120
1510 A& _E BT 12 7 8 9 13 6 15 7 6 14
1520 HEHTHET 7 15 12 10 12 11 11 10 12 16
1530 }EHTHT 5 5 4 6 8 9 2 4 6 7
1540 K4EFHT 5 8 9 8 8 8 4 10 12 8
9999 FEMNA: X 5 29 35 33 33 41 34 32 31 36 45
2010 EE AT 2 2 3 3 1 2 5 3 2 0
2020 %= EFGHET 7 3 2 6 2 7 3 3 2 6
2030 AT 0 0 0 0 2 4 0 1 0 0
2040 ;ET—T H 2 1 2 2 2 3 0 1 2 1
2050 BT =T B 1 3 3 0 2 2 4 4 2 5
2060 ¥g AT 1 1 0 1 0 3 2 2 2 0
2070 FxEBT—TH 3 6 4 6 4 3 5 4 3 3
2080 FRET—TH 2 7 2 2 1 3 4 2 2 2
2090 THiRAT 22 24 23 23 22 26 29 31 32 36
2100 fhdLHT 3 2 2 2 2 0 7 7 4 6
2110 }EWIETET—T B 4 2 2 4 4 1 2 6 4 7
2120 HEMIFTETZT B 2 3 1 6 7 5 4 7 5 0
9999 £ ERXET 49 54 44 55 49 59 65 71 60 66
2510 FAMEET 32 22 26 39 30 22 17 27 31 29
2520 sk EeHT 17 19 24 24 21 21 23 16 24 13
2530 = /INRHET 9 6 10 4 2 5 5 6 7 8
2540 FHi5HT 6 10 5 5 5 4 9 5 9 11
2550 ;HHET 1 3 4 4 3 4 5 6 4 4
2560 = SHT 7 15 9 19 11 13 11 19 16 13
2570 X &HT 0 0 1 1 2 2 0 0 1 3
9999 ME R X ET 72 75 79 96 74 71 70 79 92 81
3010 X#FHET 10 16 10 14 10 12 12 11 13 20
3020 ;BT HT 12 11 13 13 13 11 15 9 15 15
3030 L EFHT 9 11 13 9 11 12 9 15 8 9
3040 &S _LHET 2 1 3 1 3 1 3 2 3 3
3050 R AT 1 39 31 31 27 40 2 29 3 26
3060 B THT 8 9 7 8 4 10 9
3070 THESEHT 2 7 13 7 12
3080 HHHHT 7 5 3 2
3090 H A E AT 7 3 6 9
3100 HhFaHET 4 7 8

3110 EHAILHET 12 11 4 10

9999 /\ FER X5t
3510 £[R AT
3520 £ R chfT
3530 E[RTHT
3540 Z= B KHT

—_
o
(2]
©

©
~N = O =200 ~JONPSMMOOINO
—_
o

125

N (o]
OO = = NN = HBh 1T O W
—_
—_
(ee]
—_
—_

N
N
—_

—_
© 00 O U1 00 JO0 WO ~h OJO®

—_

20

($]
O O BN PO WWW

—_
—_

N A
o—k

N WO =00 —= 00— 00— 00~ w

—_
o

N
NODRARODAODU —O WO ©
N

3550 A EFHT 1 16 1 15 1 10 1 1 15 16
3560 = T ERAT 7 4 5 1 7 8
3570 = FAafT 1 7 12 11 14 1 16 12
3580 FLIFTHT 8 7 10 8 12 4
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[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
3590 EHT
9999 EHKXET 6
4010 41| N ET
4020 &S HT
4030 5HT
4040 S HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET 3
4510 AR EE—ZHT
4520 EREE — AT
4530 EREE=ZEHT
4540 EREEIUZHET
4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET 3
5010 BRF0H £ HT
5020 FAF0BAEET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t 2
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 FEERXET 1
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
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9250 % HT At #r b 6 3 5 3 1 2 1 0 0
9999 S XET 62 62 46 39 29 22 25 22 8 1
9310 E[FHET:AR 6 0 4 3 2 1 3 0 0
9320 H[SHETIL 1 1 3 1 2 0 2 0 0
9330 FH[SAT/INE 2 3 3 3 1 1 0 0 0
9340 R [ZHTR 1 3 4 1 3 2 1 0 1
9999 WG XET 10 7 14 8 8 4 6 0 1
9410 RETT & 3 2 4 2 1 1 0 1 0
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9430 RETFER 4 0 0 0 0 0 2 0 0
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10 HAT 1 167
20 fE&LET 0 182
30 @M 2 236
40 SRET 0 103
50 KET—T B 1 287
60 KET=TH 0 214
70 AET=TH 1 315
80 AT IEHET 1 82
90 FEHNT IR AT 0 184
100 b ALET 0 137
110 #3THT 2 1370
120 ¥A;TAHT 0 243
130 ¥ FHT 0 389
140 EAEET 0 3
150 1 FFrHET 1 316
9999 KB XEt 9 4228
510 AETHT B 0 397
520 HpEEMT 0 156
530 /\F&EHET 0 216
540 15 EHT 0 406
550 FithET 0 343
560 = ZLHT 0 52
570 EEHT 0 73
580 #rBHET 0 132
590 FriEMT 0 60
600 ZEARET 0 623
610 &M 0 160
620 FEBET—T B 0 0
630 ¥TERT T H 0 2
9999 J\ KXt 0 2620
1010 R HHT 0 203
1020 Lt FHT 0 333
1030 b HT 0 350
1040 78 HHET 1 567
1050 & FHHET 1 721
1060 FH _EHT 1 625
1070 F7[RHET 1 705
1080 & FHHT 1 439
1090 HEHT 0 616
1100 L BiEHT 0 646
1110 f21EHT 0 142
1120 #Z1E JCHT 1 81
1130 +5&HT 0 25
1140 Fk[RHET 0 16
1150 #/RET—T B 0 193
1160 #EET=TH 1 237
1170 ;B/KHET 0 157
1180 EE&FLHET 2 225
1190 #&FARHT 0 202
1200 XFHET—TH 0 139
1210 XFHEIZTH 0 169
1220 $HET 0 151
1230 %KHET 0 177
1240 B EHT 0 108
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1250 fEEHET 0 126
1260 B & 0 39
1270 EEHT 0 110
1280 FRAHET 0 156
1290 $RHT 0 174
1300 & ZEHT 0 147
1310 RILGHET 0 79
9999 KM XET 9 8058
1510 A& _E BT 0 777
1520 HEHTHET 1 737
1530 }EHTHT 0 300
1540 K{Z3FHT 2 568
9999 FEMNA: X 5 3 2382
2010 Z & ERHET 0 181
2020 %= EFGHET 0 302
2030 AT 0 22
2040 ;ET—T H 1 205
2050 BT =T B 0 202
2060 ¥g AT 1 39
2070 FxEBT—TH 0 258
2080 FRET—TH 1 197
2090 THIELHET 0 1782
2100 fhdLHT 0 262
2110 }EWIETET—T B 0 255
2120 HEMIFTETZT B 1 313
9999 ZERXET 4 4018
2510 FAMEET 1 2354
2520 sk EeHT 1 1401
2530 = /INRHET 1 396
2540 FHi5HT 0 468
2550 ;HHET 0 254
2560 = SHT 1 979
2570 X &HT 0 86
9999 ME R X ET 4 5938
3010 KATHT 4 1062
3020 ;BT HT 1 1017
3030 _EEFHT 1 842
3040 &S _LHET 0 139
3050 B AT 4 2464
3060 B THT 2 516
3070 THESEHT 1 551
3080 HHHHT 1 469
3090 H A E AT 0 470
3100 HhFaHET 0 476
3110 EHAILHET 2 457
9999 /\FHERXET 16 8463
3510 2R LHT 0 183
3520 £ R chfT 0 364
3530 2R THT 1 1035
3540 =B KHT 2 382
3550 AETHT 1 797
3560 = T ERAT 0 297
3570 = T AT 0 810
3580 FLIFTHT 0 528



XH24 T F REARBIREZD—EREIZKYSNEANZEH-AO
[R4.7.31IREVITEET S (KF) AlE#HA A D (%)

THRET(KF)a—F {TERHET (KF)4% 100kl E A0t

3590 EHT 0 16
9999 S HKXE 4 4412
4010 41| NHET 1 317
4020 {E&HT 1 93
4030 5HT 0 239
4040 = HEAHT 1 250
4050 7K EHT 0 513
4060 E5Z HAT 2 385
4070 JtJRHET 0 188
4080 =;T;HAMT 0 231
4090 FR ek HET 0 321
4100 g FEFOET 0 150
4110 JtFFOET 0 163
9999 &M XET 5 2850
4510 EREE—ZEHT 1 762
4520 EREE — AT 0 195
4530 EREE=ZEHT 1 224
4540 B} EErUZEET 2 189
4550 EREE FFHT 0 110
4560 EREENEEHET 0 104
4570 EREE-HZFHET 0 152
4580 ERZE/)\ZHEHT 0 100
4590 EREE N FEHT 0 155
4600 EREE-+ZEHET 0 217
4610 EREE+—ZHT 0 244
4620 EREE+ —FHHT 0 369
9999 ERERXET 4 2821
5010 BRF0H £ HT 0 239
5020 BAF0BAELET 0 223
5030 FRFNREI{—HT 1 248
9999 MAFIMXET 1 710
5510 b RHET 0 212
5520 = HhHET 0 659
5530 75 = /T 0 514
5540 THEHRT 0 273
5550 EEHET 0 56
9999 EiRX &t 0 1714
6010 [E]ET/]NER 0 102
6020 [z ET = 0 117
6030 [EET &I 0 98
6040 EAZEIFHT 1 216
6050 JI|ABTE 0 156
6060 JI|EHETF 0 124
9999 BEERXET 1 813
6510 B &= A#GHET 0 25
6520 HZEAKIEHET 2 205
6530 B E AFTHHET 0 98
6540 HZEALLTHET 0 187
6550 B E A Z NET 0 87
6560 HRAIEILHET 0 125
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6580 H&EAEHT 0 89
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6610 HEA _LFEHT 0 37

6620 HZE AT 0 52
6630 HZE AT FGHET 0 79
6640 B &= A EitslT 0 34
6650 HZASHET 0 1
6660 HZ A RLHET 0 32
9999 HEARKKXET 2 1332
7010 Z B MO E 2 169
7020 — R AHT 0 219
7030 = R IRHNET 0 102
7040 — BT KEFHET 2 194
7050 — R ¥y H I HET 1 108
9999 — R&XEt 5 792
8011 IRAETFEHERLY 0 56
8012 IR AHTFHERA 0 135
8013 YR AHTFEER (& 0 76
8021 IRAHTIZEKLY 0 74
8022 YR AHETIEKA 0 3
8023 IR AHTIEKIL 0 8
8031 YAHETH ALY 0 162
8032 IRAHTHA A 0 5
8033 FAHETH AL 0 11
8041 IR AHTELIRL 0 50
8042 IR AHTELIRA 0 21
8043 R AHETHELIFIE 0 13
8044 IR AHTELIRIC 0 28
8045 YR ABTELIF T 0 46
8050 i AHTHRA 0 113
8060 IR AHTFT#E 1 98
8070 JRABTER 0 88
8080 Ik AHT &k 0 46
8090 IR AHTHEE 0 34
8100 JRAHBTH /1% 0 15
8110 IRAHTJII 5 0 38
8120 R AHETEEE 0 78
8130 IR AHTH L 0 76
8140 JRABIEEZEXT 0 114
8150 IR AHBTEFRK L 0 68
9999 AKX 5T 1 1456
9010 +THTAKEH 3 636
9020 FTHTHEA 3 410
9030 +THTH & H 0 1360
9040 +THTHEH 1 1460
9999 FT#XEt 7 3866
9110 SRETTTH & 1 599
9120 SFETH L 0 269
9130 $EHTH & 0 136
9140 SERT T4 1 428
9150 $RHT L§% 0 505
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9999 WG XET 7 980
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9450 RHETHER 0
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9470 RETEXR 0
9480 RHETHER 0
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